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gbooooggn

gbobobodgo

CafeOBJOODOOODOODOODOOODOOOODOOODOODOODOOODOOO
OO00o0bDOoboO0O"™mod”00000OO0O0ODOODOOODOO

mod module_name {

module\_element*

b

module name D 0000000000 Omoduleelement 000000 OO0OOO0O
000000000000 oooooooooo0oooUoooU0ooooooooo
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O00DbO00bDoobooO’pr’ex’07us’"0 0000000 mport0 00O OO0
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pr (module-exp)
ex (module-exp)
us (module-exp)
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[sort-name. . .sort-name]
*[sort-name. ..sort-name]*
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op Operation_Name : arity -> coarity
op Operation_Name : -> coarity
ops Operation_Name ... Operation_Name :arity -> coarity

bop Operation_Name : arity -> coarity

Operation Name OO0 OO0 00000000 OOarity,coarity 00O 00000000
gbobobobooooobbobbooooobbbouooooobbobbdudyaritydd
DbooboooboboboboboboobobobOarityd coarityJ 00O ODOOOO
OO0O0O0oooooobD’eps’D000O0O0O0ODOOODOOODOODOOODOONO arityd
OOooooop’0000OO0bop”000OOOOOOOOOODO

gooo

U000007eq"0 000000000000 00O0ceqOOOOODOODODO

eq lhs = rhs .
ceq lhs = rhs if condition .

00000000 (lhs)DOOOOO (¢hs)DDODDDOOOOOOOOOODODOOOOO
OooooOoooooOooooooooobooooooooonfPOboo0oOoooooo
OO000D00000ooboObOO”condition’d 0000000 BOOLOODOOODOODO
BoolUOODODOODOODOODOOODOOOODOODOOOOOOOOOOOOOOODOO
oboobooboooog

gooo

oooooO’var'ogoooon

var var-name : sort—-name .
vars var-name ... var-name : sort—name .

var-name D 000 00O0O0O0OOOsort-name0 0000000 CO0OOOOO0OO0OO
00000000000 ars”’O0OOOOOOOO

gooo
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2.2.2 CafeOBJ/OTSO

000000000 Obsevational Transition SystemO [11]0 00000000000
gooobobbobbbobboddoooooobobobobbbbdduoooooobo
0000000 CafeOBJO OTSOOOO0OO0OODOO0OOOOODOOOOO CafeOBJ/OTS
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orsboboobo0obo0obo0oooOoOoU0obOO0ObOO0ObDU0ObOUOobDOoDOoDOoDbDOoDbDOoDOn
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e O:000ODODO
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e 7 JUUOODODODO
obhobzZo000b0o0booboobonobo

e 7 :00000ODOO

gbobooggbobogoobbogbuooobbbooobbbuoooboog
OO0D00000ODO00Oeffective conditionD DO OO0 O0DO0O0ODOOO0OOOOOODOO
gbboggobobuodgobobuoobbobuooobboooobobuoooboog
gboboooobobod

gogobbbbuoodbob bbb ibbbuogooobbbbobbugg
o(ul) =0(w2) 0000000 OTSOOOCODOOOOOW,w2, 0000 ¢t000000
t(ul) =t(w2)00000000000000OTSOOUOOOOOODODODOOOOOOO
googbboobuodbbooobodboobbooboobboooboobobon
gboooogn
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O0b0o0obooboob0obooobooobobobooboobgbReductiondOOO
gboogodbooobuoobbooobbooboobbodbooobuooboon
gboobooodobod

-=>
--> send1(drop2(S)) = drop2(send1(S))
-=>

-- case

-—  /empty?(celll(s))

-—  /“empty?(celll(s))

open SCPobEq

op s : —> Sys .

eq empty?(celll(s)) = true .

red send2(dropl(s)) =ob= dropl(send2(s))
close

open SCPobEq

op s : -> Sys .

eq empty?(celll(s)) = false .

-— |=

red send2(dropl(s)) =ob= dropl(send2(s))
close

00 send2(dropl(s)) =ob= dropl(send2(s)) 00 00000000000000000
0000000000000 00empty?(celll(s)) O not(empty?(celll(s))) 000000



00 reduction 000 000000000000000000000000000000
D00tue0000000000000000000000000000000000red
send2(dropl(s)) =ob= dropl(send2(s)) 000 000000000000000000O0O
000000000000000000000000 twe0000000000000
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gobogoboogbobboobbuouobuoobbuoobbuobobbodobobo
gboogobuogbbuboobogoobboobooobobuogbbooboon
gbobodboobbuoobboobuoobbodobuoobbogboooboobn
gobbooogoboboooobbobooooobobbooogobobbuoooon
gbogobuogbbuoobbuobbbuodobbodoboboooboobbobood
gobobooogooboood

gobooooobooooboboobooooobooooboboobooo spPINDODOO
OO0D00000D000D000CateOBJO MandeODOOODODOOOOODOOOODOODDO
gbbbooogobbbuoooobbboooobobbbuoooobbbbooooon
O0 CafeOBJODOODOOCateOBJOOOODOOODOODODOOODOO SearchO O OO
OO0000Db0o00oobooooDn CateOBJOUOODODOOOODOODODOODOODODOO
Search D0 O0O00O00O0OODOOO

SearchJ 00000000000

CateOBJ OO Search OO0 D UODOOO0OOOOODOOSearch0 000000 ODOOODO
O0CateOBJODOODOOOOODO trans0 00000 OtransO0 0000000 OOODO
gbobobooogobobod

gooo

O0bDooooooooObDwans”0 0000000000 0OODOO  ctrans”00 00
gooboodao

trans [trans-name] : < rhs > => < lhs > .



ctrans [trans-name] : < rhs > => < lhs > if condition .

gogdgbobboobbbodgoooobbbobbbidddoddtrans-name U 00
OO000b00o00oobo0ob0ooo0oboobodl condition0O00O000OOOODOODO
OO0 BoolOODOUOOOODOODOOOSearchOOODOOOOODOODOODODODOODO
gbbboodgobboooobbob

Search 0 OO0

CafeOBJ O verl 480 0000000000000 Search0O00O00OO0O0OO0ODODO
Seaerch 0000000 0O0OO0OO0ODOODOOOOOOOOODOODODOOOOOOOO
Oooooboooooob0 RWLOOoOooboooo

SearchDO0OO0O0Ored0000O0ODOOO0OOO0ODOOODOOOOODOODOODOODO
OOtrans00 00000000000 OC0OO0OOO0OOO0OO0O0O0O00O0O00OO000 RWLOO
goboboobobbobobbboduoooobbbbobbibdwansO0DO0OO000O0OO0
gboobgboboboboobobboboboboboooobobobobobg
OO000D0 SearchDO000OO00ODOODOOOOOOODO

HEN

tl =(m,n)=>* t2 suchThat pred(t2)

OO0000o0oo0BOOLOODOOODtIOtransO 00000000 Ot20000000
OO0000o0oobooobo0bDo0bodDO truedDO00O0O0O0OO0ODO false OO0
suchThat 0000 00 OsuchThat 00 O pred(t2) 0 true0 0000000000000
00000 t100 t200 suchThat 00 0 pred(t2) 0000000000 OO OsuchThat
gobobooog2gdobobogooboooooobooo

mUJOoooooooUnddbbouooobbdbmd nb0o0oooobooon
OO0«x0000000000«x000000000DO0DO0O0Ox0000+0!0b0b00O0bOO

0o
e t1 =(m,n)=>* t2

tl=(nm)=>xt200 t100 20000000000 0000000000000
OO0 true000000000OD0OOD false00000OO0O0ODODOOOOOOODOO
gbobodbbogdalbbbuooobbuooobbbooobbooobobbbod
gbooboodbboobboobibanbbidtdd mgooooobbogbod
gbboogdgbboooobboobobbuoodbbbooobbooobooboog
OO000D0D0000O0trueD0D00O00O0ODO0ODOO falseCOOO
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e t1 =(m,n)=>x t2 suchThat pred(t2)

t1 =(m,n)=>* t2 suchThat pred(t2) D0 0000000000000 O0OOOOO
gbobobootlibuogod2idgooobbbbouoogbbobobogg 2000
t30000bobobodbbodbibdweebb0dbbooobooooboonoDd
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o t1 =(m,n)=>+ t2

«(JO00000+00000000+¢100t¢20000000000000000 false
OO0D0000b0000ooO«x000o0boobbd suchThat OO0ODOOOOODOO
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o t1 =(m,n)=>! t2

000000200 t10000000O00DO0O0OO0OO0OOO0DOODOt20000
OO0000D00Db000000 treed 000000 0ODODO false0O0OOOOO
DO0O0D000«x0b0000bO0bsuchThatDOOOOOOOOODOODOODOOO
gboboodgobood

O00 Search 0000000 ODOODOODOO

t1

pred(t2)

\J
O @ m™ pred(C—FLICIEDI

0 2.1: SeaerchDOOODOOODO

t100 0000000000000 000000000OguoooooD t204 suchThat
pred(t2) 0000000000000 0O0COOOOO0OOOOOOOOOODOOOODOO
OOb0O0DbO0O0OO0Search000000ODOOO0OOODOODOOOOOODODOOOODOO
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OO000D00Db0O0 SearchD OO0

Search OO0 O000O0OODOOOOO0OOOODLDODODOOOOOOOOODOODOD
OO0O0D0OO0ooobodbeeerch0 000000 O0O0ODOODOODOOOODODOODODOOO
OO00O00ooDoobob0b0ob0obobooboboboOononog SearcchDOOOOOO
gbooboooobbbooobboboooobbboooobboboo

00000000000000000000Search 0000 0t1 =(m,n)=>* t2 suchThat
pred(t2) D0 0000000000000 000000O0mO00n0000000Ox00
O0suchThat 0000000000000 ODODODOOOOCOCOODOODODOsuchThat (not
pred(t2)) D0 0000000000000 O0O0O0OOOOOODOOOOOODOODOOO
gbboggbbooobbtudweedbooobbooobbbooobboogn
OO00000000Db0ODO00O0b00db0Oflseb 00000000 OOOODODODO
gbboobobO«uggobbboooobbboooobboooobboooobboood
gogooobobboboboboboooooodduuuguougouooooooon
gbogbboobbodgbboobobobbuobuoobbooboboboooboon
gboboboggobbobuoooobobboooooooo
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30 bboutdbobbottdbobotdd
Juoood

googobbogobuoobboobuoobbooboobobbooobuooboon
gbogbobodgboboobboobuoobbboobbodoboobobuooboon
gboobuogbbodbbogbogobuogboboooboooobbooboon
gbogdbobbodbbodobbodobbodgbboobobbuoobboobbo
gboogboobogbobuoobbooboobobuoobbooooooboobood
OO0 QQrLockiooooooooooobobooooogoo

3.1 000000000 QLOCK

gobogbobouogbbuoobbuoouobbuoobboboooobobboobog
OO0D00D00 QLoCcKOoOoooooooo

QLOCK

gobodbogobooboboobobooboooboobbooooboooboobo
gbogbobuogbbooboobobuoobobbuoobobooobooonobbood
googbboobuodbbobobooboooobooboobbooboobobon
gbooboooobon

QLOCKODOOOooOOoooooboooooobobobooobooooooooooooo
gbbboogbbooobbbuooobbbuooobbbuooobbbooobboo
goboboooooboooogon

QLockOoooobobooooooouoboobobooooogooo

Loop {
Remainder Section;
rm: put(queue,i);
wt: repeat until top(queue) = i;
Critical Section;

cs: get(queue)

13



3

queee U0 0000000 0O0O0O0O0O0O0O0OOOOOOOOOOO0OOOUYUput,top
U0 egetODUDODOOODDOOOODLOOOODODOOODLDDODOOODLOOODDOOOO0
gbobobooogbbobuoooobobooao
oob0o0ioobooboobo0oboo0obobOObDUn Remainder Sectiond [
OO000000000D0O0D0dC Critical SectionD OO ODO0OOODOODOiOD00OO0OODO
O0000000D0000000D0000 10 quened 000000 DO Oput(queue,i) O
gboboboodbbbdddquened 0000000100000 0O0O0O0O0O0O0OO0OO0
0 0 Orepeat until top(queue,i) =i000000000000000O00OOCOOODOO
O0000000O0quene00000000000000DO0O get(quenue)JO0ODOOOO
gbggdbbboooobbbuoooobbboooo:ogoobbbooodg
mwt00 csO0000 (Labe) DO 0000000000000 O0DOOOOOOOOO
gbbboooidbmbO0O00quene 0 0O0OUOO0O0O0OOOOO0O0OOOOOOOO0
b0 wtoouoooobobooogoobbouoobobbod estn
ggbbbuoooobbboooobbbmddodd quenedggoooog
ggbobobuoooobbboogbuooobboboooobon

3.1.1 00000

0000000000 QLOCKODOCafeaOBJ/OTSOODOOOOOOOOOOOOOO
orstbooboobooboobooooboobobooobobobobobobobobon
gobooo

ooog

QLOCKOODODOODODODODO0000000000Quened 000000000000
00000000Sgrex 00000000000000000Ope, quened00000
pcO Soroex 00000000000i00000000000i0000 rm,wt,esd O
00000000000 quened0So00x0000000000Quened000000

0000 Sgrocxk J0000000 Opocx 000000000000

Ogrockx = { queue : Sys — Queue, pc : Sys Pid — Label }

Jooodg

goooooobobobobbooooooooooooo
(1)put(queue,i) 0 O O O(2)repeat until top(queue) =i0 0000 00 O 0O O(3)get(queue)
Joodoooooiobibodooodd want,try, D00 ext U000 0OOO0O0OOO
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OoO0000000O00i10 Sqrocxk 000000000 OOOOOOOOOOOOOOO
O00000Owant0D (1) 0000000000000 Queaed 000000000
O000«wyO (2)000000000000OO0ODODOOOCOO0O0OO0O0000OOODOO
exitD 3)00000000000000000000O0000Quened0OOOOO
goboboodgo

0000Sgrock 00000000 Toroeg DO OOOOO0OOOOO

Torockx = { try : Sys Pid — Sys, want : Sys Pid — Sys,
exit : Sys Pid — Sys }

oooobd

Sorock 000 init 00 Oqueue(init) 00 0000000000000 O00O00O0OO 0O
O0Opc(init,) 00000 mOO000000000Sgrock 00000000 Zorock
gbooboogooboood

Torock £ { init | queue(init) = empty A V; : Pid.(pc(init,i)) = rm }

CafeOBJOODOODOODOOO OTSOODOO QLOCKOODOODOODUOOOOoDOO
gbobbbugogobbbooooobbobbuoooobbbbooooobobobon
OO00O000O000o0oob0ooooboboobooOoQLOCKO Oorsocoboooooooog
gbogbobouobobuogobboobuoobbooboboobooboboobood
0000000000000 0CafeOBJ/OTSOO0O0OD0O0O0DODOOOOODOOOOOOO
gbobboooobbbuoooobbobdo

gbobobodo

cdooboboooobobo0mmt0doooobooooobo0ouooooobUd Zorock
0000 CateOBJUDODOOOOOOODOODO

eq pc(init,I) = rm .
eq queue(init) = empty .

o000 wantO O O
O0wantOQOQOQODODODOOOOOOOOOOOOOOOOOOO

op c-want : Sys Pid —> Bool
eq c-want(S,I) = (pc(S,I) = rm)

ceq pc(want(S,I),J) = (if I = J then wt else pc(S,J) fi) if c-want(S,I)

15



ceq queue(want(S,I)) = put(I,queue(S)) if c-want(S,I)
ceq want(S,I) = S if not c-want(S,I)

OO0 cwant OO O0O0OwantO DU OODDODO0OO0O0OO0O0O0DOOOODOOODOOO0
gboogobobbodoboboobobuoobboobooooobuoobboobood
goboboogd

O000000000000000 want(S,1)00000pc0000O0O 10000 wtO
O00I000000000000SO0000 pe(S,J))D000quened 00 SOODOOO
000 quene(S) 00000 I000000000O0O0OOOOOOOOOOOOOOOO
gboboboogobbbooggbboboogoboboaod

goboDtryO o
U0 tyDUOOOO0OOoOoooooboooobbooogn

op c—try : Sys Pid -> Bool

eq c-try(S,I) = (pc(S,I) = wt and top(queue(S)) = I)

ceq pc(try(8,I),J) = (if I = J then cs else pc(S,J) fi) if c-try(S,I)
eq queue(try(S,I)) = queue(S)

ceq try(S,I) = S if not c-try(S,I)

O000 exitO OO
U0 exitJ00000oooobbobuoooobbbouoobbn

op c-exit : Sys Pid -> Bool

eq c-exit(S,I) = (pc(S,I) = cs)

ceq pc(exit(S,I),J) = (if I = J then rm else pc(S,J) fi) if c-exit(S,I)
ceq queue(exit(S,I)) = get(queue(S)) if c-exit(S,I)

ceq exit(S,I) = S if not c-exit(S,I)

Jooog

00000000 Sqgroex 00000000000 DODOOOOOOO0O0O0O0O0O0O0OO
O000000000O0Sock00000000O0O0DODOOOOCOCOODOO Sgrock O
OO0000D00QLOCKOODOOODOOoooOooooooboboooooboooboooo
OO000000bo0o0b0obo00bO0o0obO0oobOoobooooogDcateOBjOOoon
gobobooooboboooobbboooon
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eq mutualEx(S,I,J) = (pc(S,I) = cs and pc(S,J) = cs) implies I = J .

o0oSooooboooobboooobooobooIcobooooboboboo
obooJobooobooobooobooboboIbbooboJobboobbooobn
gboboboooobbbooobboboogobbobuoooobn

ooooood

Search 0000000000000 DOODODOODOOOOOOOOOOOOODOO
0000000000000 000000000000000000000000000
0000000000000 000000000000000QLOCKOOOOOOOO
0000000000000000000000000000000000000000
000012340 000000000

mod* PID {
[PidConst < Pid < PidErr]
op none : -> PidErr
pr (EQL)

vars Icl Ic2 : PidConst

eq (Icl = Ic2) = (Icl == Ic2)

eq (none = I:Pid) = false .
}

OO000 PidConst DD OOPMAdOOODOOODOOODOODODOOODOODOOOODODOO
OEQLOODOO0ODO0ODOOOOOOO0OO0bOOO0OOobO0obObOoooboboooogo
gbobbuoooobbbuooboboboooobobobuoooobbobood

mod*x PID {
ops 1 j k1m: -> PidConst .

gboggbogbbuoobobuagsbuobbuoobobbobodgbboobood
gboogobuogbbogbobogobuogbbodgbbboooobbooboon
gbbobooodgobbod

3.2 UUotuobooubod

CafeOBJ/OTSOOOODOODOOOO000O0ODODOOOtrans000OOSearch00O
O00000000000000000000 (trans) 000000000 OOOTSOOO
gbobooobobobooooboo
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Jooooboboogoon

0000000 (trans) 0000000000

mod! QLOCKijklTrans {
pr (QLOCK)
ops 1 j k1 : -> PidConst .

[ Config ]

op <_> : Sys —> Config .

var S : Sys .

ctrans [want-i] : < S > => < want(S,i) if c-want(S,1i)
ctrans [want-j] : < S > => < want (S, j)
ctrans [want-k] : < S > => < want(S,k)
ctrans [want-y] : < S > => < want(S,1)

if c-want(S,j)
if c-want(S,k)
if c-want(S,1)

vV V V V

ctrans [try-i] : < S > => < try(S,1i)
ctrans [try-j] : < 8 > => < try(8,j)
ctrans [try-k] : < S > => < try(S,k)
ctrans [try-y] : < 8 > => < try(8,1)

if c-try(S,i)
if c-try(S,j)
if c-try(S,k)
if c-try(S,1)

V V V V

ctrans [exit-i] : < S > => < exit(S,i) > if c-exit(S,1i)
ctrans [exit-j] : < S > => < exit(S,j) > if c-exit(S,j)
ctrans [exit-k] : < S > => < exit(S,k) > if c-exit(S,k)
ctrans [exit-y] : < S > => < exit(S,1) > if c-exit(S,1)

b

O000000QLOCKOOODODODUD400000000000000pr(QLOCK)O
00000 CafeOBJ/OTSO OO0 QLOCKOODODOODODOODOOOOOOODOOO
Oijkl00000000000000O04000000000

OO00000000 Configuration0 O DD OODOOOO0OOODOOODOO Configuration
O000SO0000000400000000000000 TransOO 0000 Owant(S,I)
0000000000000 000000D00D000DbO00O00OO0ODOoDO0ODOODn
00.,,j,k10400000000000000000 tryexit00000O0O0O0ODOO0OG5
ODO0e0O000000O0O0ODOODOODObO0ODOODOO0ODbDUObOUObOUObODOoOoODOoDOooOoOit
O00000000DO00DO0DOO0O0O00DbOoDoOOo OoTSsOoooDoobDOoooOoog
000000000000 0D000O000
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Search OO0 O0O0OOO0O0O

OO0O0D0000O000000000Search 00000000000 ODOOSearchOO

gboboboooobboboooobboboooobooogn

gbooboogon

open (QLOCKijklTrans + MEX)
pred mutualEx-ij : Sys .

eq mutualEx-ij(S:Sys) = mutualEx(S,i,j)
=(*,1)=>% < S:Sys > suchThat

red <
red
red
red

AN AN AN A

red
close

init
init
init
init

init

>

V V V V

=(*,2)=>*x < S:Sys
=(*,3)=>* < S:Sys
=(*,4)=>x < S:Sys
=(*,5)=>*% < S:Sys

>

>
>
>

suchThat
suchThat
suchThat
suchThat

(not
(not
(not
(not
(not

mutualEx-ij(S))
mutualEx-ij(S))
mutualEx-ij(S))
mutualEx-ij(S))
mutualEx-ij(S))

QLOCKODODOOOO400D000 QLOCK|jjklITransO O OO OODOOOOOOO
OMEXOODOOODODOODOOooOOooOooooboobooobooooooooobooo
O0SO0000000000 mutuwalEx-jjO0000000red00000000OO0OO
gboboboogoobbbuoooboobbboooobbobuoooon

MEX

ODOOoMEXOOODOODOOooOooobooooooboboobooo

mod MEX {
pr (QLOCK)
pred mutualEx : Sys Pid Pid .
. vars I J : Pid .

var S :

eq mutualEx(S,I,J) = ((pc(S,I)

gbooboao

g

Sys

= cs and pc(S,J) = cs) implies I

Search 000000000 ODOODODOOODOODOODODOO

*

—-- opening module (QLOCKobEq + QLOCKijklTrans + MEX.. done._x

-- reduce in %QLOCKijklTrans + MEX :

19
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=>* (< S >) suchThat (not mutualEx-ij(S))):Bool
—-— reached to the specified search depth 1.
(false) :Bool
(0.000 sec for parse, 669 rewrites(0.000 sec),
984 matches, 161 memo hits)
-- reduce in %QLOCKijklTrans + MEX : ((< init >) = ( *x , 2 )
=>* (< S >) suchThat (not mutualEx-ij(S))):Bool
-- reached to the specified search depth 2.
(false) :Bool
(0.000 sec for parse, 2524 rewrites(0.032 sec),
3699 matches, 670 memo hits)
-- reduce in %QLOCKijklTrans + MEX : ((< init >) = ( *x , 3 )
=>* (< S >) suchThat (not mutualEx-ij(S))):Bool
-- reached to the specified search depth 3.
(false) :Bool
(0.000 sec for parse, 8480 rewrites(0.140 sec),
12363 matches, 2302 memo hits)
-- reduce in %QLOCKijklTrans + MEX : ((< init >) = ( *x , 4 )
=>* (< S >) suchThat (not mutualEx-ij(S))):Bool
-- reached to the specified search depth 4.
(false) :Bool
(0.000 sec for parse, 23368 rewrites(0.485 sec),
33963 matches, 6498 memo hits)
-- reduce in %QLOCKijklTrans + MEX : ((< init >) = ( *x , 5 )
=>* (< S >) suchThat (not mutualEx-ij(S))):Bool
—-- reached to the specified search depth 5.
(false) :Bool
(0.000 sec for parse, 58432 rewrites(1.984 sec),
84939 matches, 16522 memo hits)

ooobobdbob4bo0oboobobobobobobobobobobobobg
O0000b0bOoOoboD FalseOOOOOoOobOooobooobooobboobooon
gbbobuoooobbbuooobbbodnbbbuoooobbbuooobbodan

FalseDOOOOOOOOOODOODOOODOODOODOODOODDODODOODOO
Dooobooboo3bdbo1iog2e3bbobobooooobooobob4n0o0
gog8b260ddbbbouoobobogobbooobbgsgboboboded 13600000
gboobodboobobuoobboobuoobboobuoobbogboboobobon
gbobobobboooobbbuoooobbboooobbodoo
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gbooboogon

oobooboooooboboooboooboobbooboooboooooDoDO QLOCK
gboboggbobbogobogoboboboobxbooboooboooboboon
OO000000b0oboooooooboobo uockoooooooobooboobgoo
000000000 DO00O00O0o0O00b0obOoDOobO0oobOObDgSearchODODO
gbboogbogobooobobdobooooboooboooboobobobood
gbobogobogoboooooobbobuoobboobboobbobooboboon
goo

gogobobuoogobboboog20g0bbobooogon

** Found [state 198] (< want(try(want (exit (try(
want (init,i),1),1),1),1i),j) >):Config
{ S:Sys |-> want(try(want(exit(try(want(init,i),i),i),1i),1i),j) }

** Found [state 199] (< want(try(want (exit (try(
want (init,i),1),1),1),1i),k) >):Config
{ S:Sys |-> want(try(want(exit(try(want(init,i),i),i),1),1i),k) }

** Found [state 200] (< exit(try(want(exit(try(
want (init,i),1i),1),1i),1i),i) >):Config
{ S:Sys [-> exit(try(want(exit(try(want(init,i),i),i),1),1i),1i) }

gogbobbobooddibdwanttryexit 000000000000 0O0O0O0000O0 1
O wanttryexit D00 O00000000000000 10 wanttryexit0000000OO0
gboooobbboodbibobDmtdbogooooobobobogobooboooooboog
gbogoboobbbbodgbbooboobbuoobbuoobbodooobboood
iggbbogoboboogbooobbooobbooobbuoonoooobboon
gooo

gobodgbbggboboobbooboobboobbobbooobooboa
O0O0O000DO00ODO withStateEqOD OO OOODOOOOO0OODODOOODOOOOOO
gbobooooboobooaobn

3.3 withStateEqUO 0O OO0

Search 0O OD0OO0O00ODOO withStatekqO OO OOOODOOOODOODOOOO
gbbobooogbbbuoooobboboooon
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withStateEq
O00 SearchDO0OD0O0O witStateEq O OO OO0 O OO
tl =(m,n)=>x t2 withStateEq pred(S1:Sort,S2:Sort)

withStateEq 0 O 0 0 O withStateEq 0D 0000 (pred) 0000000000000
(S2) 0000000000 (S))ODoODOO0OO0O00DOoO0OO0O0U0OooOooOOpredd O BOOL
OOO0O00oDOoDOS10Ss2000000000D00O000S100Ss2000000¢+t200
goboboogobb«20bbbougubobbbooooooboogd

t1

pred(t2)

‘pred(E—FELICIBOB

O

O 3.1: withStateEq O O OO

OO00O0000 withStateEqU OO ODODOOOO0OOOOOOODOOOODODOODOO
OOoboOooos2000b000000oooboooOoSs1oobogooogos1ios200n
goboboooobbboooobbobooooboo

oood

withStateEq 0 DO DO O0O00OO0O0O0ODOO0OOOOO0OOODOOODOOOOODOOn
gbogobuodgbbbobooboobbuoobbodobbooboboobboobn
gboogbboobuodbooboboobogbboobooobbooboobobon
gbbogobuoobbuobobooooboobboobboobobboobood
gboogobuogugbooobooobuoobboobboobobooboboon
gobooo

ggodooooooobobbbbbbbbbooobobbbooooouoououooaaag
OO0O0O00BOOLOOOODOOOODOOOOQLOCKOOOOODO pel queued O
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OO0O000ODb0o0bO0o0ooO0o0ooO0oboOo0obbO0b0o0bOoobDooDOoOoOoD QLOCK
gboboboooobon

mod QLOCKobEq {
pr(QLOCK + PIDlist)
pred (_=_) : Queue Queue {comm}
vars Q Q1 Q2 : Queue . vars X Y : Pid .
eq (Q =Q
eq ((Q1,X)

true .

(Q2,Y)) = (X =Y) and (Q1 = Q2))

pred (_=ob=_with_) : Sys Sys PidList {memol} .
pred (_=pc_with_) : Sys Sys PidList .

vars S S1 S2 : Sys .
var P : Pid .
var PL : PidlList .

eq (81 =pc 82 with P) = (pc(S1,P) = pc(S82,P))
eq (S1 =pc 82 with (P PL)) =
(pc(S1,P) = pc(S2,P)) and (S1 =pc S2 with PL)
eq (81 =ob= S2 with PL) =
(81 =pc S2 with PL) and (queue(S1) = queue(S2))
}

—ob=with 00000000000 =0b=0000000000=pc withD0OOODO
000000O=pcwith0O0ODOODOO0000000O000000000O000000
00000000000000000000000=pcwithOOOO=ob=withOOO
0000000000000000000000000000000000000000
000000000000 000000000000OwithD0O0O0O00O0O0O0O0000
00000000000000000i,jk0000000000000000000S1
—ob=S2 with (ijk) 000000

withStateEq 0 0 0 00 0000000000000 000000000000000
000000000000000000000000000000000000O0000
000000000000

open (QLOCKobEq + QLOCKijkTrans + MEX)
pred mutualEx-ij : Sys .

eq mutualEx-ij(S:Sys) = mutualEx(S,i,j)
pred _=ob=_ : Config Config {memo} .
vars S1 S2 : Sys .
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eq (< 81 > =ob= < 32 >) = (S1 =ob= S2 with (i j k))

red < init > =(x,*)=>* < S:Sys > suchThat (not mutualEx-ij(S))
withStateEq (C1l:Config =ob= C2:Config)

close

Configuration 0 000 00O OO Configuration 0 00000000 OO0OOODOOOO
OO0000000 Configuration 0 00 SOODODOODODOOOOOOODOOOOOOODO
ooo

—-- opening module (QLOCKobEq + QLOCKijkTrans + MEX.. done.__
-- reduce in %QLOCKobEq + QLOCKijkTrans + MEX :
((< init >) = (*x , *x ) =>% (< S >)

suchThat (not mutualEx-ij(S))

withStateEq (C1 =ob= C2)):Bool
** No more possible transitions.
(false) :Bool
(0.000 sec for parse, 20433 rewrites(0.313 sec),

32774 matches, 7673 memo hits)

-- opening module (QLOCKobEq + QLOCKijklTrans + MEX.. done.
-- reduce in %QLOCKobEq + QLOCKijklTrans + MEX :
((<init >) = (* , * ) =>*% (< S >)
suchThat (not mutualEx-1ij(S))
withStateEq (C1 =ob= C2)):Bool
** No more possible transitioms.
(false) :Bool
(0.000 sec for parse, 397861 rewrites(8.953 sec),
634435 matches, 142169 memo hits)

gboogoboobbogosugoboogobooobb40bbogbbobood
false 000 000ODOOO0OO0OOO0OOO0OODOODODOOOOOOOOO 3000000
gboboogo3dbbugbogubb4b000obboooobobotuoonoboood
gstbbbbooggbbbbooogbbbboooobbboooobbboooobbo

34 UUOotootubood

OO00000D0O00bD0o0bO withStateEqUO O OOOOOOOOOOOOOOOO
gbooboboooobbobdogoobbbooooobboooobboboooon
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gobodbboggboogobuoobbboobbodgbbogooboboobog
gbbooogbogboooboobbuoobbuooodobboobboobobood
gobobobuoogoobbobbouooobobbboooooboobobobbooooonon
gbogbbodboobbodobbodoboobobboobbooboboobood
gboboboooooboobod

U00OeqUDOO0O0D0O0DOODODODODODDOODOODOODOODOODOODn
gbobbodboooobboboboobbooboobbogbooobuooboon
obooboobooobooobbobboobooboobooboobooboon
OOob000oOOo0oooboOobOooboobooboboobbooboqQLockoooooooo
oboobooobon

o ceq try(want(S,I),J) = want(try(S,J),I) if not(I = J) .

1I0JO0000000want(S,1)000 try(S,J) 0000000 try(S,J) 000 want(S,I)
00000000000000000000O0want(S,)0000000001000
DwtOODOOOO try(S,J)00000000000JO00000 es000Otry(S,J))
00000000000wy00000000S000000JO0000 wtODO
00000000 want(S))0000000000I00000 mO000

OO0 SooooboobobooooooboboJoobooboboooooooDo
O000JO0O00000000000000000Owant(S,I), try(S,J)00000O
oboobooboobobJbobooboobod

000 0try(want(S,1),J) 0000000000000 Owant(try(S,J),)00000
0000000000000000000000000010wt000000J0
s0000000000000000000000

e ceq exit(want(S,I),J) = want(exit(S,J),I) if (not(I = J) and not(empty?(queue(S))))

I0JO0OD0O0D000000000000000000want(S,1)000 exit(S,J) O
O00000D0exit(S,J) 000000 want(S,)) 0000000000000 0O0OO
O0000want(S,1) 000000000 I0000wtOOOOODO exit(S,J)000O
00000000 JO0000mO00D0exit(S,J) 00000000000 tryO
O0000000SO000000JO00000 0000000000 want(S,1)0
obooboooboo I mbon

obobooboobobobooJbooboobobooboobobbobon
O000Owant(S,]), exit(S,]) 00 0000000000000 O0O0OJOOOOO
gbbbuogobbbooobbboooobbod

000 Dexit(want(S,1),)) 0000000000000 Owant(exit(S,J),) 00000
0000000000000000000000000010wt000000J0 mm
0000000000000000000000000000 not(empty?(queue(S)))
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gbbogobobobuogobbuooobboooobbooobbuooobood
gbbbuoodoobbbooodobbbooodb

e eq exit(try(want(init,I),I),I) = init .

gboboogdbiwanttryexit 0000000000 0O0000O00O0O0O0O00O00O0O
gbgbobogbboobooboobobboddwanttryexit0 000000 0OO0OO
gbbbuoooubimbbogoobbobuoooobbboooobood

gobodgbbooboooobbooboboboobbuoobboobooobooa
gbbbuoooobbbuoobobboooobbbuoooobboao

Jooog

ggodooooooooooobobobobbbobobbobbobobbbboooooaa
gbogbogobuogbbuoobboobboobobobobboobboobood
gobboooobbbooobboboooobobobuoooobboooon

withStateEq 0 0 000000000000 D0O0O0O CafeOBJ/OTSOODODOOOOO
gooooobooobobbbbbbbooboodddododooooooooooon
gbbooboggbbboooobbuooobbbooobboooobbooooboags
gbo40bboooooodboobogbbooboboboobobooobbooobboon
OO0D0o0o0obooOobDoooogDowithStateEqD ODODODOOOODOOOOODOODO
googodboooboobboobuoobboobtoooobooobuoobobon
gbbbuoooobbboooobbboooobbbuooobbboogoboo

Jooodg

gbobboboboboooobobobboboboboboooobobobob
OOob0obooboooboooboooboobboobboooo S=00sooooooo
oboboobooboon

ggbopooooooooboobbbbbbbbbbbobboboooboooooogg
ooooboboboobuobobobooboboboob3suoboboobobobg
O0=0b=withOODOOOOOOOOOOif0000D00DODOODOO implication O O
OO00o00obooboboboboboboboobobobOobdDdimplication O O
gbboboooobbbooobboboooobbbuodono

e not(i = j) implies (try(want(s,i),j) =ob= want(try(s,j),i) with (i j) )

e (not(i =j) and not(empty?(queue(s)))) implies (exit(want(s,i),j) =ob= want(exit(s,j),i)
with (i j))
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e exit(try(want(init,i),i),i) =ob= init with (i)

oo

gboobbogdgobbbogoobbbooobobboooobobobooogooobn

open QLOCKobEq

op s : -> Sys .
ops i j : —> Pid .
eq 1 =]

red not(i = j) implies (try(want(s,i),j) =ob= want(try(s,j),i) with (i j) )
close
--> 1,7i=j,c-want(s,i),c-try(s,j)
open QLOCKobEq
op s : -> Sys .
ops i j : -> Pid .
eq (i = j) = false .
-- eq c-want(s,i) = true .
eq pc(s,i) = rm .
-- eq c-try(s,j) = true .
eq pc(s,j) = wt .
op q : —> (Queue .
eq queue(s) = q,]
— =
red not(i = j) implies
(try(want(s,i),j) =ob= want(try(s,j),i) with (i j) )
close
--> 1,7i=j,c-want(s,i), c-try(s,j),pc(s, j)=wt,queue(s)=empty
open QLOCKobEq
op s : -> Sys .
ops i j : -> Pid .
eq (i = j) = false .
-- eq c-want(s,i) = true .
eq pc(s,i) = rm .

eq c-try(s,j) = false .
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-- eq ((pc(s,j) = wt) and (top(queue(s)) = j)) = false .

eq pc(s,j) = wt .
eq queue(s) = empty .
— =
red (not(i = j) implies
(try(want(s,i),j) =ob= want(try(s,j),i) with (i j)))
close
--> 1,7i=j,c-want(s,i), c-try(s,j),pc(s,j)=wt,queue(s)=q,k
open QLOCKobEq
op s : —> Sys .
ops i j : —-> Pid .
eq (i = j) = false .
-- eq c-want(s,i) = true .

eq pc(s,i) = rm .

eq c-try(s,j) = false .
-- eq ((pc(s,j) = wt) and (top(queue(s)) = j)) = false .

eq pc(s,j) = wt .

op q : —> Queue .
op k : -> Pid .
eq queue(s) = q,k .
eq (j = k) = false .
-- because eq c-try(s,j) = false .
-- that is: eq ((pc(s,j) = wt) and (top(queue(s)) = j)) = false .
— =
red not(i = j) implies
(try(want(s,i),j) =ob= want(try(s,j),i) with (i j))
close
--> 1,7i=j,c-want(s,i), c-try(s,j), pc(s,j)=wt
open (QLOCKobEq
op s : —> Sys .
ops i j : —> Pid .
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eq (i = j) = false .
-- eq c-want(s,i) = true .

eq pc(s,i) = rm .

eq c-try(s,j) = false .

eq (pc(s,j) = wt) = false .

— =

red not(i = j) implies
(try(want(s,i),j) =ob= want(try(s,j),i) with (i j) )

close

--> 1,7i=j, c-want(s,i),c-try(s,j)

open QLOCKobEq

op s : —> Sys .

ops i j : —-> Pid .

eq (i = j) = false .

-- eq c-want(s,i) = false .

eq (pc(s,i) = rm) = false .

-- eq c-try(s,j) = true

eq pc(s,j) = wt .

op q : —> (Queue .

eq queue(s) = q,]j

— =

red not(i = j) implies
(try(want(s,i),j) =ob= want(try(s,j),i) with (i j) )

close

--> 1,7i=j, c-want(s,1), c-try(s,j)

open QLOCKobEq

op s : -> Sys .

ops i j : -> Pid .

eq (i = j) = false .

eq c-want(s,i) = false .

eq c-try(s,j) = false .

— |=

red not(i = j) implies
(try(want(s,i),j) =ob= want(try(s,j),i) with (i j) )

close
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00000000 try(want(S,I),J) = want(try(S,J),I) if not(I=J) 000000000
gboudboodb srwedDO0OO0OOODDOODDODOOOOOOOOOOOODOO true
gbobobobboobooboobooboobooyboobooboobooDo

.

o i=j,c-want(s,i),c-try(s,j)

(
(

o i=j,c-want(s,i), c-try(s,j), pc(s,j)=wt

e i=jc-want(s,i), c-try(s,j), Jj)=wt,queue(s)=empty

(8.J).pc(ss)
e i=jc-want(s)i), c-try(s,j),pc(s,j)=wt,queue(s)=q,k
( S

o i=j, c-want(s,i),c-try(s,j)
e i=j, c-want(s,i), c-try(s,j)

gboboobbooooooobbbbuoooobobobbodgd el
obobboboobooboobooboobon

ooooogd

gboobbooooobboooobboboogobobbuooon

open (QLOCKobEq + QLOCKijkTrans + MEX)
pred mutualEx-ij : Sys .
eq mutualEx-ij(S:Sys) = mutualEx(S,i,j)
var S : Sys .
vars I J : Pid .
ceq try(want(S,I),J) = want(try(S,J),I) if not(I = J)
ceq exit(want(S,I),J) = want(exit(S,J),I)
if (not(I = J) and not(empty?(queue(S))))
eq exit(try(want(init,I),I),I) = init .
-—-> 00QQQ 3 processes @QQQQ
red < init > =(x,*)=>* < S:Sys > suchThat (not mutualEx-ij(S))
close

Seaerch 0000000000000 ODOOOOOOOOOOOODOOODOO30O0O
gbobuoooobbbouooobobbbooooboboogbooogbobobooon
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-- opening module QLOCKobEq + QLOCKijkTrans + MEX.. dome._
-—> Q0000 3 processes 0QQQQ*
-- reduce in %QLOCKobEq + QLOCKijkTrans + MEX :

((< init >) = ( * , *x ) =>%x (< S >)

suchThat (not mutualEx-ij(S))):Bool

** No more possible transitions.
(false) :Bool
(0.000 sec for parse, 6166 rewrites(0.094 sec),

9841 matches, 1324 memo hits)
*

-- opening module (LOCKobEq + QLOCKijklTrans + MEX.. done.__
--> Q0000 4 processes 00QQQO*
-- reduce in %QLOCKobEq + QLOCKijklTrans + MEX :

((< init >) = (*x , *x ) =>% (< S >)

suchThat (not mutualEx-ij(S))):Bool

** No more possible transitions.
(false) :Bool
(0.000 sec for parse, 45281 rewrites(0.563 sec),

74272 matches, 9797 memo hits)
*

-— opening module (QLOCKobEq + QLOCKijklmTrans + MEX.. done.
-—> @0Q0Q 5 processes 0QQQQ*
-- reduce in %QLOCKobEq + QLOCKijklmTrans + MEX :

((< init >) = ( * , *x ) =>x (< S >)

suchThat (not mutualEx-ij(S))):Bool

** No more possible transitioms.
(false) :Bool
(0.000 sec for parse, 361586 rewrites(7.328 sec),

603329 matches, 78630 memo hits)
*

—-- opening module (LOCKobEq + QLOCKijklmnTrans + MEX.. done.__

--> Q0000 6 processes 0QQQQ*

-- reduce in %QLOCKobEq + QLOCKijklmnTrans + MEX :
((< init >) = (% , *x ) =>% (< S >)
suchThat (not mutualEx-ij(S))):Bool
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** No more possible transitions.

(false) :Bool

(0.000 sec for parse, 3161041 rewrites(319.485 sec),
5332972 matches, 690421 memo hits)

gboobgooboobosbbo4b001g0bobbobooboobobogs
oo roobogbobdgbedbo39oobobobobbooboboobonog
O0000DO000DOO0oooDbO0oOo0DOOwithStateEqOD ODOOOODOOOOO
gboboogboggbboobboobboobboobobbuoobbuoobbuoobbo
oboobo

3.5 OO0

ObdbOD0Search0 00000000 0ODOODODOOOOOOODOODODODOO
gobobbuooggobobooooobobbuoooobobboooooboobon
OO0000DoO0o0oooboobooooOdwithStateeqUOOOOOOOOOOODOOODO
gboogobudgbbodboougbobuogbboooooobuoobobooboon
OO0bD0o000oooooboobooobogboOwithStateEqUOOOOOOOODOOODO
gobbodboogobuoobboobuoobbuooboobobuogbobuooboon
gbbbbooodgobbboooobbbbooooobbbuoooobbbbooooon
gobboboogguooobbobbuooooobbobbooooooobboooonon
gbbobooogbbbuoooobbbuoooobboagb
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40 Oootdboodotd

OoOoooooooobooscepobooQQLoCcKkooooooooooboooobooo
OO0ooQLoCKOODOOoooooooooooscpnDuoonooonoonooOQLOCK
OsCpOD0O0O0O0DOOOOODOOQLOCKODOOOOOODOOOODOOOOoODoOO
sSCeO00D0OO00O00O0DbODbDObDObObOOoOOoOoOoQQLOCKbOoouoooooooO
OoOoooooooscpooonobooOdrepbOOO0ODOOOOODOOODOOOO
OOo0oooobooboboboooQrockobooooooooopo sceoooonogon
obobooboobg

4.1 0OJ0O0O0OOOO SCP

0000000 SCPOOOABP(Alternating Bit Protoco) D000 OOABPO O OO
OO00o000000ob0o0obOob0obOobOobooboooosCcpobobUobOobOoDbDOoD
gbboooooood

SCpO OO

gobodbbogboooboobuoobuoobboobooboobbooooboba
OOooo0oboobOoboobobobooooboboobobobooooooooscpOom
0000000000000 (eelll)D00D0OO0O0OO0OOOOOODODODODODDODODDOOO
00 (cell2)DO0000000000OODDOOOCODOO0O0O0O0O0O0OO BOOLOOOO
bitlODOODODOODO BOOLODOOD hit200O0D0ODO0OO0O0OODOOODOODOO ListO
oooscepoboboooboonoonoon

e sendl:
O000d0<bitl,p>0 celll OO 0O0OD0O0O0OOOp, 0i000000O0OOOOONO
ood

e recl:

ODO00O0Ocel20000000000DO00OO0OOO0ODOOOOBNIODOOOODOO
OOo0obooobooobboooooooptloobogigbboooooooooon
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send?2:
O0000bit20 Cell20 O OO0

® rec2:

OO000OecelllODODOO0ODOOO0ODOOODOOODOOOODOOOOODOOO bit20
Dbooboobooobuobbobuoobobobboobob 20b00b0 ListO O
OO0bit2000000

dropl:
celllDOOD0O0O0OO0Ocelll OO0DOODDOODOODOOODOO

drop2:
cel20000000Ocell2000000000O0OOO0ODOO

OO0O00D00Obit10 bit20000 falsedOi0 00 DOcelll O cell20 000 OO O list
ooooog
ooosceObOOoOoOoOOoODO

< hit, pi >

cell1

. drop1
k j rec2

bit2

list

pO.p1.p2....pn

< bit > send2
cell2

: drop2
\j

reci

0 4.1: Search DO O ODOOODO

4.1.1 00000

0000000 SCPO0OCafeaOBJ/OTSO OO0 O0O0O0O0OONODOODOOODOOTSO
gobodbouodbooboobogbouodgboobobobooboobobboboon
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Jooog

SCPOODOODOODODODOOSCPOODODD celll,cell2,bitl,bit2 list,index 0 O
O0index 000 000000000000000Ssep,0000000000000000O
00000000000 0celll 0,850, 0000000000celll 0000000 <bitl,p;>
O0000cell20 ,Sscp, 0000000000 cell2000000 bitOOOObitl 00 bit2
00Sscp, 0000000000 flseD trued bit 00D D0list 0 0Sscp 0000000
O000list000000index00Ssep, 000000000000 SO00O00OOOONO
000000000

0000Ssep 00000000 Ogep 000000000000

Oscp = { celll : Sys — PCell, cell2 : Sys — BCell,
bitl : Sys — Bool, bit2 : Sys — Bool,
index : Sys — Nat, list : Sys — List }

Sys,Bool,PCell,BCell,Nat 00 List 000000000 OO0BOOLO OO0 OO BOOL
O00000O0OBOOLOOOOOODOODOOOOOOOOOOODOODOO

Jooodg

0O000o0osCPOOODONOsendl,send2,recl,rec2,dropl,drop2 0 000000 OO
OO0 Ssep00000O0O0DOOO0O
O0000Sscp 000000 TsepOOODOOODOODODO

Tscp = { sendl : Sys — Sys, send2 : Sys — Sys,
recl : Sys — Sys, rec2 : Sys — Sys,
dropl : Sys — Sys, drop2 : Sys — Sys }

oooood

0000 (init) O ,bit1 00 bit20 falseO Ocelll OO cell200 D000 Olist 00 (nil) O
O00indexO 00 O0DOODODOOOOODOOODOOODOO

Tscp = { init | celll(init) = empty A cell2(init) = empty A
bit1(init) = false A bit2(init) = false A
list(init) = nil A index(init) = 0 }

CafeOBJODODOODOOODOOOTSOODOOSCPOODOOOOODOOODDODOOOO
OOoobooobooobooooooobobooobbooobooooboobooooserO OTs
gobogobogbogoooboobobobobooboboobbuoobboobbooon
gogoooboobobobobbobbbbbbbbbbuodooooouoooooooon
goboboooobobboooobobod
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gobobodgg

Oo0oooooooobDmt000000000000000000000 Zgrock
0000 CafeOBJODODOOODOODOODOODO

eq celll(init) = empty .
eq cell2(init) = empty .

eq bitl(init) = false .
eq bit2(init) = false .
eq list(init) = nil .

eq index(init) = 0 .

0000 send1 000

O0sendl D0 000000 O0OOO0OOO0ODOO0ODOODODO

op c-sendl : Sys -> Bool
eq c-sendl1(S) = true .
ceq celll(sendl1(S))
ceq cell2(send1(S))
ceq bitl(send1(S))
ceq bit2(send1(S))
ceq index(send1(S))
ceq list(send1(S))
ceq send1(S)

c(< bit1(8),index(S) >) if c-send1(S)
cell2(S) if c-send1(S)

bit1(S) if c-send1(S)

bit2(S) if c-send1(S)

index(S) if c-send1(S)

list(S) if c-send1(8S)

S if not c-send1(S)

O0csendl 00000 sendl DODOOODOO0ODOODOOOO0ODOOOOODOODOO
gbogobubodgboogbobuobboobooooobuoobboobood
gobbobobbuogoooobobbdd trrebD0O000ooooooboboooon
bbb trveDU00O0O0O0OOOOO0OODOO

U000 rec1 000

U0reclOD0O0OUOO0O0OODODOOO0OOODOOOOOODOOOO

op c-recl : Sys -> Bool

eq c-recl(S) = not empty?(cell2(S))
ceq celll(rec1(8))
ceq cell2(rec1(S))

cell1(S) if c-recl(S)
empty if c-rec1(S)
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ceq bitl(rec1(S)) (if bit1(S) = get(cell2(S))

then bit1(S)

else get(cell2(S)) fi) if c-recl(S)
bit2(S) if c-rec1(8)

(if bit1(8) = get(cell2(S))

then index(S)

else s(index(S)) fi) if c-rec1(8)
list(S) if c-reci1(S)

S if not c-rec1(S)

ceq bit2(rec1(8))
ceq index(rec1(S))

ceq list(recl(S))
ceq recl(S)

O0 creclOO0O0O0OOrecl000000000OO0O0OcreclO0cel200000O0
OreclO0000000O0O0O0O0O0OOOreclO0000O0OO0OOcell200000O0cell20
0000000000000 00000OooooO»tlO0Db00O0dOO0O0OooOoooOoaon
OindexOOOOODODODOOOOOOOOObt1000O0O0O0IndexOODOOOOOO0O
0o

0000 send20 00

OOsend200000000O00DO0OOOOOODOODOODOOO

op c-send2 : Sys —> Bool
eq c-send2(S) = true .
ceq celll(send2(S))
ceq cell2(send2(S))
ceq bitl(send2(S))
ceq bit2(send2(S))
ceq index(send2(S))
ceq list(send2(S))
ceq send2(S)

cell1(S) if c-send2(S)
c(bit2(8)) if c-send2(S)
bit1(S) if c-send2(S)
bit2(S) if c-send2(S)
index(S) if c-send2(S)
list(S) if c-send2(S)

S if not c-send2(S)

send20 sendl DO O OO0OOOO0O

U000 rec2000

O0rec200000000DOO0O0O0OOODOOOOODODOOO

op c-rec2 : Sys —> Bool
eq c-rec2(S) = not empty?(celll(S))
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ceq celll(rec2(S))
eq cell2(rec2(S))
eq bitl(rec2(8))
ceq bit2(rec2(8))

empty if c-rec2(S)

cell2(S)

bit1(8)

(if bit2(8) = fst(get(celll(S)))
then not(bit2(S))

else bit2(8) fi) if c-rec2(S)
index(8)

(if bit2(8) = fst(get(celll(S)))
then (snd(get(celll(S))) 1ist(S))
else 1ist(S) fi) if c-rec2(S)

S if not c-rec2(S)

eq index(rec2(S))
ceq list(rec2(8))

ceq rec2(S)

OO0 crec20 00000 rec200000000O0O00Ocrec200cellDDOOOODOMO
re200000000000000O0rec20000000O0celllO0O0OO0OOcell1 0O
OO0D0000b0o0oobDoooobooopt2000000000DO0O000O0ODODbit2
oboobon

0000 dropl 00O

OO0 dropl 00000000 OO0OOO0O0DOODOOOOOOODODO

op c-dropl : Sys —> Bool
eq c-drop1(S) = not empty?(celll(S))

ceq celll(drop1(S))

empty if c-drop1(S)

eq cell2(dropl(S)) = cell2(S)
eq bitl(drop1(8)) = bit1(S)
eq bit2(drop1(S)) = bit2(S)
eq index(drop1(S)) = index(S)
eq list(dropi(S)) = 1list(S)

ceq drop1(S) S if not c-drop1(S)

OO0 cdropl OOOOOOdropl OO OODOODOOOOOcdroplO0celll D OO0
O00 dropl O0000D00DOOO0OOOOOdropl 000000 OOcellODODOOODO
0000000000 Oo0ogon

0000 drop20 00

OO0drop20 000000000 0OO0ODODOOOOOOODOODO
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op c-drop2 : Sys —> Bool
eq c-drop2(S) = not empty?(cell2(S))

eq celll(drop2(S)) = celll(S)
ceq cell2(drop2(S)) = empty if c-drop2(S)
eq bitl1(drop2(8)) = bit1(s)
eq bit2(drop2(8)) = bit2(S)
eq index(drop2(S)) = index(S)
eq list(drop2(8)) = list(S)

ceq drop2(S) S if not c-drop2(S)

U0 c-drop200 0000 droplDO0O0D0O0OO0O0O0OOCc-drop200cell200 00
OO00drop20 000000000000 OOdrop2000000OOcell2000DO0O0OO
oboboboobooboobd

googd

sCc¢eO0000000OD0O0ODODODOOOOOOODOODODODUODbDOOOONODO
obooobooobooboobboobboobo NgOobboobbooboobDbo
gbooboogoooboood

goooboooboooogDb istbogbooooobooooooboooooboo
gboooogooood

eq scpInv(S) = (bit1(S) = bit2(8)
implies (index(S) list(S)) = mk(index(S)))
and (not(bit1(8) = bit2(8))
implies list(S) = mk(index(S)))

00SO000000000000000000 list(S$)0000000000 index(S)
00000000000000 index(S)-1000000000000000000000
0000000000000000000
000000000000000000000000000000000000000
0000

pit1(S) O bit2(S) 0000000000000 000000 index(S)00000000
00000000000bit1(S)0bit2(S)0000000000000000 index(S)0
0000000000000000000000000000mkO000000NOOO
0000NOOOOOOOOOOOOOOO0O00
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oooobod

Seaerch D00 DOO0O0D0OOO0OO0OO0O0OCOOODOODOOODOOODOODOODOOOOOO
gboogbobodgbooobuoobboobuobooboobboobooooboon
OOo00O0o00O00ooO0o0oo0ooOo0oooOooboooooooboscepoooboOoOooOO
gboogobuogbboobooobuoobbbboobobooobooboboobn
gooboboboboboboooobobobbobobooboooboobobg
gboooooooood

mod! NATwNULL {
[Nat]
op 0 : -> Nat
op null : -> Nat
op s : Nat -> Nat
op p : Nat -> Nat
op _=_ : Nat Nat -> Bool {comm}
vars X Y : Nat
eq (X = X) = true .
eq (0 = 0) = true .
eq (0 = s(X)) = false .
eq (s(X) =s(Y)) = X =1Y)
eq p(s(X)) =X .
-- null
eq (0 = null) = false .
eq (null = null) = true .

eq s(null) = null .
}

00000 NATWNULLODOOO (1,234,.n) D null000000O0OOOODOOO
OO0nullODO0D00O000000D00D0000OlOOO0ODO0O0O0O0ODO0O0OO0ODDOO
OO0O0o0oooooooo3b0bobogl23null0000000null0D0O000OO null
OOooobobobooOndlOD00O0O0OO0O0ODOODODOOOOOODOOD

mod! NAT-LIST {
pr(LIST(M <= EQTRIV2NAT))
op mk : Nat -> List
var X : Nat
var L : List
eq mk(0) = 0 nil .
eq mk(s(X)) = s(X) mk(X)
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eq mk(null) = mk(p(null))
eqnull L =L .
}

NATwNULLOOOOODOOOODODOOoOooooooooooboooboooooooooo
OO0D000nllDO00O000000O00000D0O0000D00000mkOOO nullOO
Oob0oboboOndlO00O0OO0OOO0OODO0ODOODOOOOOOOD0

eq s(s(s(0))) = null .

gbobobobobobboboboboboobooboboobobobobob
OOoooo3gboobooooooobobobo3sbnllO0OOno30no,200000
goboboooooboboooobbobooooobbbooooobbobboooonoo
gbbobooogbbobuoooobbobooooboouooon

4.2 0OJ0O0O0OO0O0OO0O

CafeOBJ/OTSOOOODODOODOOOO0O00O0ODDODOOtrans00 00O Search 00O
O00000000000000000000 (trans) 000000000 OOOTSOOO
gboboogooobooooboon

Joooooboooood
0000000 (trans) DO0DDOODOOOOO

mod! SCPMC2P {
pr (SCP)

[ Config ]
op <_> : Sys -> Config .
var S : Sys .

eq s(s(s(0))) = null .

-— possible transitions in transition rules

ctrans [sendl] : < S > => < send1(S) > if c-send1(S)
ctrans [rec2] : < 8 > => < rec2(8) > if c-rec2(8)
ctrans [send2] : < S > => < send2(S) > if c-send2(S)
ctrans [recl] : < 8 > => < recl1(8) > if c-rec1(8)
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ctrans [dropl] : < S > => < drop1(S) > if c-dropl(S)
ctrans [drop2] : < S > => < drop2(8S) > if c-drop2(8)
}

000000000000 30000000000000Opr(SCP)0DO0O0OOO CafeOBJ/OTS
OOoOoOoSCeOidiooooooSCeObbbOOoooooosSonboDboDOOOQLOCK
goboboooobobboooobobobooooobooo

OO0000000000Db0ODbODOSearch000OD00ODOODOODOODOOOSearchDO
goboboooobbboooobboboooobboboon

gboboboogadn

open (SCPMC + SCPINV)

red < init > =(x,4)=>* < S:Sys > suchThat (not scpInv(S))
red < init > =(%,5)=>* < S:Sys > suchThat (not scpInv(8))
red < init > =(x,6)=>* < S:Sys > suchThat (not scpInv(S))

close

sCeMCODOOOOOOOOOOOOOSCPINVNODOOOOOOOoOoOoOoOoODDODOO
SCPINVODOOODOODOOoooDono

mod SCPINV {

pr (SCP)

pred scplnv : Sys .

var S : Sys .

eq scpInv(S) = (bit1(S) = bit2(S)
implies (index(S) list(S)) = mk(index(S)))
and (not(bit1(8) = bit2(8))
implies list(S) = mk(index(S)))

gbooooogn

Search DO O00O0O0O0OD0O0ODOODOODLOOODOOOODODOO

-- reduce in %SCPobEq + SCPMC + SCPINV :
((< init >) = (* , 4 ) =>* (< S >)
suchThat (not scpInv(S))):Bool
-- reached to the specified search depth 4.
(false) :Bool
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(0.000 sec for parse, 46484 rewrites(0.297 sec),
89359 matches, 324 memo hits)
-- reduce in %SCPobEq + SCPMC + SCPINV :
((< init >) = ( * , 5 ) =>*% (< S >)
suchThat (not scpInv(S))):Bool
—-— reached to the specified search depth 5.
(false) :Bool
(0.000 sec for parse, 241575 rewrites(1.516 sec),
476460 matches, 1208 memo hits)
-- reduce in %SCPobEq + SCPMC + SCPINV :
((< init >) = ( * , 6 ) =>*% (< S >)
suchThat (not scpInv(S))):Bool
—-— reached to the specified search depth 6.
(false) :Bool
(0.000 sec for parse, 1276507 rewrites(8.531 sec),
2566992 matches, 4908 memo hits)

gboogogbog20uogobooobooobobboobboobooobood
O00000b0000D FalseOOOOOOoDbOOO0OO0bOOOO0ODOOOO0ODDOOODOOO
gboboboooobbobuooobbbodnbbboooobbbuooobbogao

sCc¢eO00D00ODOODODODODODOODOODOOOOOOODOODODODODODO
OOob0oOobooOooboOOoooOoooOoooooooooorockoooooooono
gbobobogobbtbo400o200000gosbobisgbbbooonobobodgengn
gH bdiboboooooQLockobooooooobooboooooooobobooo
OO0QLOCKODOOODODODOODODOoooboboooo

4.3 withStateEqU O 00O O

withStateEq D OO DO O0O0O0OOO0OOO0DOOO0OOOOOOODOOOOOOOOobDoOoOon
gboobdobobobbobooboobobobobobooooboboboboboo
gbboboooobbbuoobbboooobooboood

ooooogago

QLOCK O OO0 withStateEqU DO DO ODOODOODOOODOOOODOOOOOOOO
SCPODOODOODO bitl,bit2,celll,cell2)list 00 index 000000000000 DOO0O
OOoboobobooooooooboboosSceooboboooooon

mod SCPobEq {
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pr (SCP)
pred (_=ob=_) : Sys Sys .

vars S1 S2 : Sys .

eq (S1 =ob= S2) = (celll(S1)
(cell2(S1)
(index(S1)
(1ist(S1)
(bit1(S1)
(bit2(S1)

cell1(S2)) and

cell2(S2)) and

index(S2)) and
1list(S2)) and
bit1(S2)) and
bit2(82))

}

OO00b0O0o0oo0booboboobobuobooband000O0O0DOlstOOd
OO0D0listD0D000000000000D0DO0000bDbo0D stdb000DOdlstdn
OO0 lst00 0000000000000 0b00bDO0O0 stbooboobog

mod! LIST (M :: EQTRIV) {

[List]
op nil : -> List
op __ : EI1t.M List -> List

op hd : List -> E1t.M
op tl : List -> List
op _=_ : List List -> Bool {comm}

vars L L1 L2 : List
vars X Y : Elt.M

eq hd(X L) = X .
eq t1(X L) =L .
eq (L = L) = true .

eq (nil = nil) = true .
eq (nil = X L) = false .
eq (XLl =YL2) = (X=Y and L1 = L2)

withStateEqU OO0 O0OOD0ODOO0OOOOOOOO

withStateEq O D O D O0DOO00OO0ODOOODOOO0O0ODOOOOOO0ODOOOOOOOoDO
SCpO0000000DODO0O0000ODOOUODODOOODOOODODODODDODO300DOOOODO
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pred obcfg : Config Config .
vars S1 S2 : Sys .
eq obcfg(< S1 >, < 82 >) = (S1 =ob= S2)

red < init > =(*,9)=>* < S:Sys >

suchThat (not scpInv(S))

withStateEq (obcfg(Cl:Config, C2:Config))
red < init > =(*,10)=>* < S:Sys >

suchThat (not scpInv(S))

withStateEq (obcfg(Cl:Config, C2:Config))
red < init > =(x,11)=>% < S:Sys >

suchThat (not scpInv(S))

withStateEq (obcfg(Cl:Config, C2:Config))
red < init > =(*,*)=>% < S:Sys >

suchThat (not scpInv(S))

withStateEq (obcfg(Cl:Config, C2:Config))

-- reduce in %SCPobEq + SCPMC + SCPINV :
((< init >) = (% , 9 ) =>%x (< S >)
suchThat (not scpInv(S)) withStateEq obcfg(C1,C2)) :Bool
-- reached to the specified search depth 9.
(false) :Bool
(0.000 sec for parse, 5097572 rewrites(19.375 sec),
8644326 matches, 48 memo hits)
-- reduce in %SCPobEq + SCPMC + SCPINV :
((< init >) = ( * , 10 ) =>% (< S >)
suchThat (not scpInv(S)) withStateEq obcfg(C1,C2)) :Bool
-- reached to the specified search depth 10.
(false) :Bool
(0.000 sec for parse, 10441085 rewrites(39.297 sec),
17686886 matches, 52 memo hits)
-- reduce in %SCPobEq + SCPMC2P + SCPINV :
((< init >) = ( % , 11 ) =>% (< S >)
suchThat (not scpInv(S)) withStateEq obcfg(C1,C2)) :Bool
-- reached to the specified search depth 11.
(false) :Bool
(0.000 sec for parse, 21621547 rewrites(80.156 sec),
36602792 matches, 58 memo hits)
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gbogobogbbuooubuoobboobbuoobbuoobboobboobood
gbooooggn

goood

gogbobbboooobobooodoobbbuooobboboooooboboobogo
googodboooboobboobooboboobbooboooboobobon
OO0000b0obO0bOO0bDOoooooobdDbDSearch000DOooooooboobDOn
googobodbobooobbooobbooboobbooboooboobobon
gbogobuogbboboobobuoobboobooobooboboobobood
goboboogobobooooon

gbobodbogbbobooboobbuooboobbooboobooboobobo
googodboooboobboobuoobbooboobodbooobuooboon
gbobbuoooobbbuodgbobbooogbbobuoooobboboo

e U UOOOLODLODOOOODLDODOOO
gbboogbobbduodobbooobbooobobboodobbboooobbo
gboboboooobboooooogboobobooon

e DO UOOODDLODUOODODOD

0000000000000 000O0Search00000O00OOOODOOODOODO
gbboggbboogoobbuoodobbbodbboboobbbuoooboboo
gooo
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o000b0oobOobooboobobobooooboooobooscpon dropiod
Oooooooooooobooobo0drepobobobobOobOobOobDOobDOD
gbboboooooobooooboon

Jooog

oooboooooooooooOoooboooooboobooboOoooscepobobooOoOoDboOoOO
gboogobuogbbogboboboobbuoobboobobuogobbooboon
obobboboobooboobooboobob

gbboboodgbobbooad

gobodbbogooboooboobooobboooboobbooboonbobo
O000D000000000000000000000000000CafeOBJ/OTSOOO
googbboobuodboooboobbbobobooboobbooboobobon
gbobobooggg

SCPO0O0Osend1 0 send20000000000DODOOOOOOOODODOOOOOODOO
O0000D000OsendlOsend20 0000000000000 0O0OOODOOdropl,drop2
OO0O0000O000OO0O0ODOsendlsend20000000000O00OO0O00OO0O0OOO0ODOO
gbobobouoogon

e cq sendl(send2(S)) = send2(send1(S))

eq send1(drop2(S)) = drop2(send1(S)) .
eq send2(drop1(S)) = dropl(send2(S)) .

eq recl(dropl(S)) = dropl(recl(S)) .
eq rec2(drop2(S)) = drop2(rec2(S)) .

gboboboooobobboooobobod

googoobbbbobobbbbibudgoouooudbDreclrec20 00000
OO00000bO0o0obO0oobooooobooOpit,bit2000000000000000O
OO0D00o0oo0oob0ooooobDOoOn dropldrop20 0000000 0OODOOODO
oboboboobooboobooboobobbobooboobd

e ceq rec2(S) = dropl(S) if (not(bit2(S) = fst(get(celll(S))))) .
o ceq recl(S) = drop2(S) if (bit1(S) = get(cell2(S))) .
if00000Orecl,rec20000 bitl,hit20 0000000000000
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gboboboooobbooooobobl

gbbodbogbuobbooboobbboobbooboobbooboobobo
O0O0000O0sendl DO0ODOOO0O0ODOOOO0OOOOO0ODOODO sendlOODOOOO
O00000Odropl OO0 sendl DO0DOODOOO0OOOOOsendl DO0OODOOOOODO
goobodbooogbbooboobbooboobboobooobuooboon
gboogao

o cq send1(send1(S)) = send1(S) .
o eq send2(send2(S)) = send2(S) .
o eq sendl(dropl(S)) = send1(S) .
o eq send2(drop2(S)) = send2(S) .

ggbobbboogobbboooobobbbuooobbbooooobobbogo
gboboboooobbboooobobod

Ub0b00o0bdb0OO0OsendlO0OOD0OOdroplO0O0OODOOOOODODOOOO
gboogobuodgbobdbodgbooobuogbbodgbobuoobbooboooon
O000Osendl 000000 droplDOOO0OO0O0ODOOOdropl 0000 ODOOODOODO
gbobooggbogobooobooboobooobboobboouobboobon
Oobooboboboooogooitgoooooooooboboooooooo

e ceq dropl(send1(S)) = S if empty?(celll(S)) .

e ceq dropl(send1(S)) = dropl(S) if not(empty?(cell1l(S))) .
e ceq drop2(send2(S)) = S if empty?(cell2(S)) .
(

e ceq drop2(send2(S)) = drop2(S) if not(empty?(cell2(S))) .

goboboooooboboooon 2

ggtodoooooooooooooooooobbobbbbbbbbbodooaad
gbogbobogbogbbuoobboobobuoobobooobuoobboobood
gboogobuodgboooobboobuooooboobbodgbooobuooboon
gbobboogoobbbuoooobbodao

e eq sendl(recl(send2(send1(S)))) = send1(recl(send2(S))) .

e eq send2(rec2(send2(send1(S)))) = send2(rec2(send1(S))) .
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sendl 00 send20 0000000000 0OO00OOO0OOOOOOOOOOOOOOO
gboobobodbboobbuoooobuoobbooboobboooboboobood
OO00D0sendl DO0O00D0O0O0D0OO0OO0DOOOsendl D000 Orecl,sendl DO0OO0OO0O
OO00000b000D0sendlO0DO0O0OO0O0OOOOOOODOOODOOOOOODOOOODO
OO0D00000D00Osend200000000DOO0O0OO00ODODOODOOODOOODOODOOODO
obobobooboobooboobooboboboobooboon

gbobbuoooobbboooobbon

sCpO0D0D0O0OD0OODDOODDODOODOODOODODOODOOODDODODDOO
0000000000000 0000 mu)0000000O0OO00O00DOOOOO0OOO
0000000000000 0000bOO000o0o0o00obOobOOooDOoDOooooOooDoOog
(mu) D00 00000000D0000000C0iIndexO mullOO0O0OOOOOOODOODOO
0000000OnudlOO0O0O0OO0OOOOODOONO sendl,rec2,send2,recl 0000000
0000000000000 D00000000000000bitL,bit20 TO FOOOO
000000000000 00000O00bO00obOOooDOooDooo0oOOobOobOooboOoog
OO000DO00DoO0o0oooooooooooooa

e ceq recl(send2(rec2(send1(recl(send2(rec2(send1(S)))))))) = S
if (index(S) = null) and empty?(cell1(S)) and
empty?(cell2(S)) and (bit1(S) = bit2(S)) .

gbooodao

gogobobboooooobooooobobuooooobobbooooobobobooo
OO0O0O0O0drepOOO0OOO0OOODOOODOOODOOODOODOOdropOOOOOO
OooooooObObObObO0o0ooooodgg dreopioooooooooooon
OOdrop0 0000000000 OO0OOOOODODODODODODODODOD
O000000000000000000 recl(rec2(S)) = rec2(recl(S)), dropl(drop2(S))
= drop2(drop1(S)) 000000000000 COCOOOOO00O0O00O0OOOOODDOOO
goduodgobuoooboooboooboobobobbooboboboooboon
gboobdgbobggboooboobbuoobbuoobbobuoobboobooobn
googobodboboobboobuoobbooboobobuoobobooooboon
gbogbobuodobobuoobboobuoobbodgbuoobbogbobuooboon
gooobod
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goobooo

gooooooobbbbbbbbbbobbdodugooooooooooooon
OO0O000bO0O0DO0O0obobOobbooboLoCKooboooooooobooooboooo
gog

-—>
--> sendl(send2(S)) = send2(send1(S))
-—>

open SCPobEq
op s : —> Sys .

red sendl(send2(s)) =ob= send2(sendi(s))
close

send1(send2(S)) = send2(send1(S)) 0000000000000 000000Otrued

00000000000000000000000000000000000O0O000
0000000000000000000000000000000000000000
000000000000000000000000000000000000000
0000000000000000000000000000000000000000
00000000000000000000000000000

-—>
--> sendl1(send2(S)) = send2(send1(S))
-—>

open SCPobEq
op s : -> Sys .

red sendl(send2(s)) =ob= send2(sendl(s))
close

-—>
--> send1(drop2(S)) = drop2(send1(S))
-—>

-- case

_ /empty?(celll(s))
--  /“empty?(celll(s))
open SCPobEq

op s : —> Sys .
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eq empty?(celll(s)) = true .

red send2(dropl(s)) =ob= dropl(send2(s))
close

open SCPobEq

op s : -> Sys .

eq empty?(celll(s)) = false .

-— |=

red send2(dropl(s)) =ob= dropl(send2(s))
close

-—>
--> recl1(send2(rec2(sendl(reci(send2(rec2(send1(S)))))))) = S
-—> if (index(s) = null) and empty?(celll(s))

-—> and empty?(cell2(s)) and (bitl(s) = bit2(s))

-—>

-- case

--  /index(s) = null, empty?(celll(s)), empty?(cell2(s)),
bit1(s) = bit2(s), bit2(s) = true

--  /index(s) = null, empty?(celll(s)), empty?(cell2(s)),
bit1(s) = bit2(s), bit2(s) = false

--  /index(s) = null, empty?(celll(s)), “empty?(cell2(s)),
“(bit1(s) = bit2(s)

--  /index(s) = null, empty?(celll(s)), “empty?(cell2(s))

--  /index(s) = null, “empty?(cellil(s))

-- /7 (index(s) = null)
open SCPobEq

op s : —> Sys .

eq index(s) = null .

-- eq empty?(celll(s)) = true .
eq celll(s) = empty .
-- eq empty?(cell2(s)) = true .

eq cell2(s) = empty .
eq bit1(s) = bit2(s)
eq bit2(s) = true .

red (index(s) = null) and empty?(celll(s))

o1



and empty?(cell2(s)) and (bitl(s) = bit2(s))
implies recl(send2(rec2(sendl(recl(send2(rec2(send1(s))))))))
=ob= s .

close

open SCPobEq
op s : -> Sys .

eq index(s) = null .

-- eq empty?(celll(s)) = true .
eq celll(s) = empty .
-- eq empty?(cell2(s)) = true .

eq cell2(s) = empty .
eq biti1(s) = bit2(s)
eq bit2(s) = false .

red (index(s) = null) and empty?(celll(s))
and empty?(cell2(s)) and (bitl(s) = bit2(s))
implies recl(send2(rec2(sendl(recl(send2(rec2(send1(s))))))))
=ob= s .

close

open SCPobEq
op s : -> Sys .
eq index(s) = null .

-- eq empty?(celll(s)) = true .
eq celll(s) = empty .
-- eq empty?(cell2(s)) = true .
eq cell2(s) = empty .
eq (bit1(s) = bit2(s)) = false .

— =

red (index(s) = null) and empty?(celll(s))
and empty?(cell2(s)) and (bitl(s) = bit2(s))
implies recl(send2(rec2(sendl(recl(send2(rec2(send1(s))))))))
=ob= s .

close

open SCPobEq
op s : —> Sys .
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eq index(s) = null .

eq empty?(celll(s)) = true .

eq empty?(cell2(s)) = false .

red (index(s) = null) and empty?(celll(s))
and empty?(cell2(s)) and (bitl(s) = bit2(s))
implies recl(send2(rec2(sendl(recl(send2(rec2(send1(s))))))))
=ob= s .

close

open SCPobEq

op s : —> Sys .

eq index(s) = null .

eq empty?(celll(s)) = false .

red (index(s) = null) and empty?(celll(s))
and empty?(cell2(s)) and (bitl(s) = bit2(s))
implies recl(send2(rec2(sendl(recl(send2(rec2(send1(s))))))))
=ob= s .

close

open SCPobEq
op s : -> Sys .
eq (index(s) = null) = false .

red (index(s) = null) and empty?(celll(s))
and empty?(cell2(s)) and (bitl(s) = bit2(s))
implies recl(send2(rec2(sendl(recl(send2(rec2(send1(s))))))))
=ob= s .

close

gbobooogn
gobooooooboooobobboooboboboooobbbuooooobon

var S : Sys .

eq sendl(send2(S)) = send2(send1(S))
eq sendl(send1(S)) = send1(S)

eq send2(send2(S)) = send2(S)
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eq sendl(drop1(S)) = sendl1(S)
eq send2(drop2(S)) = send2(S)
eq sendl(drop2(S)) = drop2(send1(S))

eq send2(dropl(S)) = dropl(send2(S))

eq recl(drop1(S8)) = dropl(recl(S))

eq rec2(drop2(S)) = drop2(rec2(S))

drop1(S) if (not(bit2(S) = fst(get(celll(8)))))

ceq recl(8) = drop2(S) if (bit1(8) = get(cell2(S)))

ceq dropl(send1(S)) = S if empty?(celll(S))

ceq drop2(send2(S)) = S if empty?(cell2(S))

ceq dropl(send1(S)) = drop1(S) if not(empty?(celll(S)))

ceq drop2(send2(S)) = drop2(S) if not(empty?(cell2(S)))

eq sendl(recl(send2(send1(S)))) = sendl(recl(send2(8)))

eq send2(rec2(send2(send1(S)))) = send2(rec2(send1(S)))

ceq recl(send2(rec2(sendl(recl(send2(rec2(send1(S)))))))) = S
if (index(S) = null) and empty?(celll(S)) and
empty?(cell2(S)) and (bit1(S) = bit2(S))

ceq rec2(S)

-—- search

red < init > =(*,11)=>% < S:Sys > suchThat (not scpInv(S))
red < init > =(%,12)=>% < S:Sys > suchThat (not scpInv(S))
red < init > =(*,13)=>* < S:Sys > suchThat (not scpInv(S))
red < init > =(x,*)=>* < S:Sys > suchThat (not scpInv(S))

gboobooooobboooobobobooooboobod

-- reduce in %SCPobEq + SCPMC + SCPINV :
((< init >) = (% , 11 ) =>% (< S >)
suchThat (not scpInv(S))):Bool
—-- reached to the specified search depth 11.
(false) :Bool
(0.000 sec for parse, 598805 rewrites(2.282 sec),
1014527 matches, 325 memo hits)

-- reduce in %SCPobEq + SCPMC + SCPINV :
((< init >) = ( * , 12 ) =>% (< S >)
suchThat (not scpInv(S))):Bool
—-- reached to the specified search depth 12.
(false) :Bool
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(0.000 sec for parse, 876698 rewrites(3.281 sec),
1482418 matches, 356 memo hits)

-- reduce in %SCPobEq + SCPMC + SCPINV :
((< init >) = (% , 13 ) =>% (< S >)
suchThat (not scpInv(S))):Bool
(false) :Bool
(0.000 sec for parse, 1398236 rewrites(5.265 sec),
2359354 matches, 380 memo hits)

-- reduce in %SCPobEq + SCPMC1P + SCPINV :
((< init >) = ( * , *x ) =>%x (< S >)
suchThat (not scpInv(S))):Bool
** No more possible transitions.
(false) :Bool
(0.000 sec for parse, 4380426 rewrites(16.062 sec),
7371403 matches, 451 memo hits)

-- reduce in %SCPobEq + SCPMC2P + SCPINV :
((< init >) = ( *x , * ) =>x (< 8 >)
suchThat (not scpInv(S))):Bool
** No more possible transitions.
(false) :Bool
(0.000 sec for parse, 65979768 rewrites(243.797 sec),
111534548 matches, 601 memo hits)

00110020000 1200 300000withStateEqO0 0000000 O0O00ODO0O
gbbuoggbbugobbuoobobbuoobboobooobbuooobuoobbgl
gblebboodo200230000b0b0b0o0030goooooobooaon
gbooboooogoood
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oooSsCPO0DODDOODOODOOODOODOODODODOODODOODOOn
e sendl(recl(send2(send1(S)))) = send1(recl(send2(S)))
e send2(rec2(send2(send1(S)))) = send2(rec2(send1(S)))

OO00O0OOsendlsend20 0000000000 0OO0O0ODOOOOODOOODOOODOO
goggobbbbbbbbbbbbbbobbbbbbdooooooooooooon
godgbogbbodgbogobboobbuoobbobboobooobuoobobon
gbbboooobboboooobn

ooog

goOobOooboOoboooooSsCceO0bboUoboOobOobObOUObDObOoOOSsSCcPOO
gboobogebbudooodbb20bbudgbbuoobboogboodgbobbood
gboogobuogbbdubogbogobuogbbodbboobooboobbodoog
gbbbuoogoobbbuooobbbooboooobbbuoooobbbuooobbo

e U UOOODLDLDOUOODLODLDDDOODO
e U OUOOODLDLOOOODLDOD

e OUOUOODLDOOOO

e U UOOOODLDLOOOODLDODO

gooooosCceiiioooooQrockboooooooooooonDboDibQLOCK
g3bbbboggoobobuooogboboooobboboooon

e JUUUOUOOLOLOODLODLDLDLOLOOUOOOO
ceq try(want(S,I),J) = want(try(S,J).I) if not(I = J)
ceq exit(want(S,I),J) = want(exit(S,J),I) if (not(I = J) and not(empty?(queue(S))))

e OO OOODLDLOOOODLDOD
00

e JUUUOOOUODODODODO
HRN

e JOOUIUOOOIOOOODOOO
eq exit(try(want(init,I),I),I) = init .
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QLOCK O try,want 10000000000 IDO0O00try,want 000000 ID
000000000000000000000000Owant,tryexitd0000 QLOCKDO
0000000000000000000000000000000000000000
000000000

0000000000000 ceq0000000000#0000000000000
000000000000000000000000000000000000SCPO
000 0if (not(bit2(S) = fst(get(celll($))))) 000000000000 00O000O0
0000000000000000000000000000000000000000
0000000000000000000000000000000000

ogooon

ggdoddodoooooooobbbbbbbbbbbbbbbbbbboaaaad
gbboooooboobbuoobbbboobboboobboboobbooboon
gbbogobobuoobbuoobooboobobbboobboobboobboood
gboogobuogbbooboobobuoobobobooboobooobbooboon
gbogbobodbboobboboobuooboboobbodobooboboobood
gbboboooobbbuoobb isgobobuoooobboooonoobobooon
oboboboobobobobooboobn

e dropl(drop2(S)) = drop2(dropl(S))
o recl(rec2(S)) = rec2(recl(S))

000000000000 00000000000000O00Odropl,drop2,recl,rec2 0 [
00000000recl,rec20 000000000000 dropl,drop2000000000
ooooo

o rec2(S) = dropl(S) if (not(bit2(S) = fst(get(celll(S)))))
e recl(S) = drop2(S) if (bit1(S) = get(cell2(S)))

Ub0b0db00recl0rec20000000O00O0O00O00OOD0ODOO0ODOOOOOODODOODO
O0o000oboodboOdropl,drop2U0 00 0O0OOdropl,drop20 00 00O0OOOOOO
O0bo0oooobooobooooooobobobood drop2,drop20000000OOODO
Doobobobodbdbddropl,drop20 00 000O00OO0OOODOODOOOODOOO
gbbbooobboboooobn

e sendl(dropl(S)) = send1(S)
e send2(drop2(S)) = send2(S)
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send1(drop2(S)) = drop2(send1(S))

send2(dropl(S)) = dropl(send2(S))

recl(dropl(S)) = dropl(recl(S))

rec2(drop2(S)) = drop2(rec2(S))

000000000 reclrec2,dropl,drop2 0 000 0000000000000 0O0O
000000000000000 18000000000000000000000000
0000000000000 000000000000000000000000000
0000000000000000000000000000000000000000
oooooog

goooood

sCc¢eO0O0Db0DbODOODODODOODOOOOOOOOOODbDODODODODODODO
gbbbuoooobbbuoooobbboooooboo

00 ogo010|0011 (0012 | 000
withStateEq O OO 0O O | 32.9sec | 80.1sec | 256.3sec X
goooooooono 1.8sec 2.2sec 3.2sec | 243.7sec

gbobobooooobgoo20b0boboboobbobobobooobob
gboogbobodboobbooboobbobuoobboobuooooboobobon
O0000D0O0O000D0ODO0O00O0withStateEqOOODOOOOODOOOODOOOO
gboogbogobobooobooobooobobboobo20bbooboood
OO00O000ooOoboOooscpOobO0ObDObDObOOOObOODODODODOODbDODOD
gboboboooobboboooobon
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el OO0

gooooboooooooooobobobobobobobobobobobobog
OO000D00O000000DbOO CateOBJUDODOODODODODODODODOOOODOODO
obooboobobobbobbobbobbobbobbobbobbobbobbob
OO0000bo0obo0obOobooooobobuobOobDooooboOobDdSearchogQ
ooobgboboboboboobobuobobuoooobobobobobobobg
gboogbbbodbogbboobuobobobobooboobbooboobobon
obobobobboobbobobobboobbobbobbobbobbobbobbob
gooobbobbobobobobooboobobbbobbootdodoodooooooooooooon
gbooboooobbbuoooobobbbooood

e JO00ODOOOOSCPODOOOODOOODOOODOOO
e OO ODLOOODLUOODODLODLOODOODLOODLOODOO

ooooooosceObO0oOobOOO0DOOOOOObDOOODOOODOOODOO
gboogoobbodbboooboogbobuoobboobboooboobboobood
googobogbbooboboobobuoobboobbooboboobboobo
gboogbboobuodgboobbooboobboooboobbooboobobon
googbboobodbbooboboobooboobooboobbooboobbon
gbobooobobobooooboo

e U UOOODLDDLDOUOODLODLDDDOODO
e U UOOOODLDOOOODDOD

e OUOOODLDOOOOO

e OO UOOOODLODOOOODDOD

gboogobuodgbbobooobuogbbuoobboobooobuoobbooboon
goobdoboboboboooobbobbobobobooboboboboboo
gboogobuogbboobooobuoobbooboooboboobbbobood
goobooooooboobod
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6.1 Qo

gbbogbuogbbboobooboboobbooboobboobuaoboobobo
googogbbodbooobooobuoobbooboboboobbooboon
gboooboguogoobboobbuoobbuodobbobuoobbooboooon
O00SCPOOOOOODODDOOODOOOO ABPI3|000000OO0OODOOOOOODOO
gbogbobodbboouobboobuoobbodoboobbodgbooobooon
googobodbooobuoobbooboobboooboboooobooboon
gbobobooogon

gobbogbbodbooooboobobooboboobuoobbooboonbobo
gboobogbodgbbodgboboooboobboobbuoobbooooboon
googobbbodboboobogobuoobboobboooobooboboon
gbogbobodgbbobuoobboobuoobboobuoobbodoobobooboon
googbboobuodbboobobooboobbooboboobbooboobobon
gboogobboobbuoobboobuoobboobuoobbooobobooboon
gboboboogooboboogd
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HRN

ooobgbobobobobobooboboboboboooobobobbobobo
O0000D0O0O0O0ORene VESTERGAARDOOOOOODODOOOOOOOOOOOO
oboobooboobooboobbobbboobooboobuoobooboon
obobooboobooboobooboobod
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